40

20

-20

40

20

-20

rrrr|rrr|rrr|rrr|rrr

T

rCombined Ve

rIDL: Max= 39.2

—FZ, Fix the Tree rmal, circular)
| DCPS: Max= 39.

r24.1

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

8, Min=-35.846355

7119, Min=-35.846357

-4 -2 0 2 4
time

6

rrrr|rrr|rrr|rrr|rrr

T

rCombined Ve

rIDL: Max= 36.6
—FZ, Fix the Tree @@ost. dis., circ.)
| DCPS: Max= 36.

r26.1

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

7, Min=-37.011753

8509, Min=-37.011755

-4 -2 0 2 4
time

6

40

20

-20

40

20

-20

rrrr|rrr|rrr|rrr|rrr

T

rCombined Ve

rIDL: Max= 39.2
—FZ, Fix the Tree rmal, shaped)
| DCPS: Max= 39.

r25.1

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

7, Min=-35.844333

1198, Min= -35.844335

-4 -2 0 2 4
time

6

rrrr|rrr|rrr|rrr|rrr

T

rCombined Ve

rIDL: Max= 38.0
—FZ, Fix the Tree st. dis., shaped.)
| DCPS: Max= 38.

r27.1

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

3, Min=-36.371414

5654, Min=-36.371416

-4 -2 0 2 4
time

6



20

rrrr|rrr|rrr|rrr|rrr

T

Combined Ve

dcps_auto_j
Shot: 4898, P

| IDL: Max= 34.4(889 Min= -31.372245

45

-20 tFz Fix the Tree rmal, circular) -
DCPS: Max= 34. 759, Min=-31.3727
[ 24.2
L1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1
-4 -2 0 2 4 6
time
T I T T T I T T T I T T T I T T T I T T T
20t :
Combined Ve orces

0
ree 176
| IDL: Max=32.1 7, Min=-32.661995
-20 tFz Fix the Tree st. dis., circ.) -

rDCPS: Max= 32.

[ 26.2

U U SR U AU SR NN SN SR N N RN SN NN

-4 -2 0 2 4 6
time

619, Min=-32.661996

20

-20 tFz Fix the Tree rmal, shaped) .
rDCPS: Max= 34. 812, Min=-31.371192
[ 25.2
S IR B N R B
4 -2 0 2 4 6
time
L AL IR I LI L
20+ .
| Combined Ve orces
0 dcps_auto_j
-Shot: 4898, P ree 176
| IDL: Max= 33.37, Min=-31.871181
-20 tFz Fix the Tree st. dis., shaped.) 4
rDCPS: Max= 33. 014, Min=-31.871181
[27.2
S IR B N R B
4 2 0 2 4 6

rrrr|rrr|rrr|rrr|rrr

T

Combined Ve

dcps_auto_j
Shot: 4898, P

| IDL: Max=34.3 2, Min=-31.371192

time



3.5¢10*
3.0°10%

2.5¢10%

2.0010*}

1.5¢10%

10.0°10°%}

5.0010%}

-2.02102¢

3.5¢10*
3.0°10%

2.5¢10%

2.0010*}

1.5¢10%

10.0°10°%}

5.0010%}

-2.02102¢

LI L L L L |

LI I LB BB LB B

L Combined Verti¢

[dcps_auto_ja

| Forces

'Shot' 4898, Param| Tree 176

[ F2, Fix the Treg (normal, circular)

3.5¢10*
] 3.0.10*

1 2.5.10*

{1 1.5.10°

IDL: Max= 32115.697, Min= 001747210%[0 0.103

-DCPS: Max= 32115{700, Min= -0.0174?;2105_0-103

[24.3

T Y T U T _2.0.10-2 L

-4 -2 0 2 4 6

time
T T T 350101
; | ] 3.0410*
; ] 2.5¢10*
] Al

rCombined Vertical Forces 1 2.0°10"
[ d to j ]
dcps_auto_ja —- L 510"

[F,, Fix the Treg (p

[ 26.3

L

P R T

'Shot' 4898, Param| Tree 176

st. dis., circ.)

rDCPS: Max= 3112|568, Min= -0.0l78é

P VR NI S N T

IDL: Max= 32112.566, Min= 001789170610 0.103

1705.0010°

4 -2 0

2 4

time

6

1 2.0-10*f

LI L L L L |

LI I LB BB LB B

L Combined Verti¢

[dcps_auto_ja

[ 25.3

P R T

P

| Forces

'Shot' 4898, Param| Tree 176
IDL: Max= 32120.267, Min= 00211730
[F2, Fix the Treg (normal, shaped)

rDCPS: Max= 3120|270, Min= -0.0211?-

PR IR S B R

3039

4 -2 0

2 4

time

6

LI L L L L |

LI I LB BB LB B

L Combined Verti¢

[dcps_auto_ja

[IDL: Max= 321

[F,, Fix the Treg (p

(273

-2.0:102¢

L

P R T

[ Shot: 4898, Param| Tree 176

582, Min= -0.0153901

st. dis., shaped.)

[ DCPS: Max= 32114(585. Min= -0.01539

P VR NI S N T

4 -2 0

2 4

time

0100

6



3¢10*

20104}

10¢10°

310721

3¢10*

20104}

10¢10°

310721

rrrr|rrr|rrr|rrr|rrr

—T T T T
PR I R

PR IS S S S S S T

3¢10*

20104}

[ Combined Vertita Forces
[dcps_auto_ja
[ Shot: 4898, Param| Tree 176
[IDL: Max= 3217[7.226, Min=-0.028730216 3
i ] lO'lO
:FZ, Fix the Treg (normal, circular)
L DCPS: Max= 3p177|228, Min= -0.028730215
[24.4 ,

1 l 1 1 1 l 1 1 l 1 1 l 1 1 1 l 1 1 1 -3.10- [

-4 -2 0 2 4 6

time

T I T T T I T T T I T T T I T T T I T T T
_ ﬂ . ,
i . 310

] at

L Combined Vertical Forces 1 210
[dcps_auto_ja
[ Shot: 4898, Param| Tree 176
[IDL: Max= 3217/1.980, Min=-0.030923707 3
i ] lO'lO
[F,, Fix the Treg (post. dis., circ.)
:DCPS: Max= 321711983, Min= -0.03092;3705
[26.4 ,

1 l 1 1 1 l 1 1 l 1 1 l 1 1 1 l 1 1 1 -3.10- [

-4 -2 0 2 4 6

time

rrrr|rrr|rrr|rrr|rrr

T T TTT

[Combined Vertital Forces
[dcps_auto_ja

EShot: 4898, Param| Tree 176
:_IDL: Max= 32183.483, Min= -0.0291532-37
EFZ, Fix the Treq (normal, shaped) ]
EDCPS: Max= 32183486, Min= -0.029155

[ 25.4

PR IR S S NS AN U NNUL TN AU S N NN

4 2 0

time

2 4 6

rrrr|rrr|rrr|rrr|rrr

T T TTT

[ Combined Verti¢

[dcps_auto_ja
EShot: 4898, Param| Tree 176
IDL: Max= 321753.966, Min= -0.029087808
EFZ, Fix the Treq (poist. dis., shaped.) ]
| DCPS: Max= 301731969, Min= -0.02908

[27.4

PR IR S S NS AN U NN TN AU S N NN

4 -2 0

time

2 4 6

3737

7899



3.5¢10*F
3.010%}
2.5¢10%

2.0010%}

1.5¢10%

1.0¢10%

5.0010°

3.5¢10*
3.010%}
2.5¢10% |

2.0010%}

1.5¢10%

1.0¢10%

5.0010°

R B B B 3_5.104_'
ult Starts: -0.20774390]

N i «10%
'Fault Ends}|0.30785382 3.0-10
i | 2.5410%}
,,,,,,, I 1021
:—Combined Verti :\JI orces 1 2.0-10
Ld to_j
: cps_auto_ja ; 1.5.104
| Shot: 4898, Param) Tree 176
:_|D|_: Max=,82124.4 1, Min -0025033é99 1 0.104
EFZ, Fix the Treg (nprmal, circular)
FDCPS: Max= 3p124l863, Min=-0.025043995,0010°
(245 ]

PR RPN NPRY AP 1 P NP IR B

4 -2 0 2 4 6

time
R B B B 3_5.104_'
ult Starts: -0.20774390]

N i «10%
'Fault Ends}|0.30785382 3.0-10
i | 2.5410%}
,,,,,,, I e10%1
:—Combined Verti :\JI orces 1 2.0-10
Ld to_j
i cps_auto_ja ; 1.5.104

[ Shot: 4898, Par
[F, Fix the Tre

[ 265

[IDL: Max=,82122.1

L bcpg: Max= 321

1]

p

P R T

. Tree 176

st. dis., ci

)

2p1710, Min= -002053

i

PR IR S N R

8, Min=-0.020532248 4
25 1.0010

2245.0010°

4 -2

0

2 4

time

6

0L

| L L

;—Fau Ends

T

[dcps_auto_ja

[ Shot: 4898, Par
[F2, Fix the Tre

[ 2% 5

| TR

ult Starts: -0.20794235]

[IDL: Max=332129.

L bcpg: Max= 321

P I I P T IR T

rrrr [ rrr[rrrr

0.30785382

1N} Tree 176

485, Min=-0.0328038

npirmal, shaped)

261437, Min= -00328d3868

4 -2

O 2 4 6

time

| L L

;—Fau Ends

T

[dcps_auto_ja
:—ShOtZ 4898, Par
:_IDL: Max=,321
EFZ, Fix the Tre
FDCPS: Max= 3P

[ 275

0 I

ult Starts: -0.20774390]

rrrr [ rrr[rrrr

0.30785382

)| Tree 176
1.186, Min=-0.019646(
ppst. dis., shaped.) |

2411189, Min= -0'019646018

| TR

Pl I I P T IR T

4 -2

O 2 4 6

time



-5.0¢10°

-1.0-10*

-1.5¢10%}

-2.0+10*

-2.5¢10%

-3.0¢10%

-3.5¢10%]

-5.0010°

-1.0-10*

-1.5¢10%}

-2.0+10*

-2.5¢10%

-3.0¢10%

-3.5¢10%]

Of

[ T I T T T I T T I T T I T T T I T T T |
[ ] 3
! 1 -5.0-10
[ ] 4
i ] -1.0'10
] af
- , _ 1 -1.5¢10
:Combmed Vertical Forces ]
:dcps_autoJa : 4
i 1 -2.0°10
L Shot: 4898, Pargm. Tree 176
LIDL: Max=0.027392374, Min=-32136.028_2 5e¢1(*
| F,, Fix the Tree (fjormal, circular)
[ 1 4
'DCPS: Max= o.o:j7392373, Min= -32135.038.0¢10
[24.6 Al
1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 _3-5.10
-4 -2 0 2 4 6
time
[ T I T T T I T T I T T I T T T I T T T |
[ ] 3
! 1 -5.0-10
[ ] 4
i ] -1.0'10
] al
- , _ 1 -1.5¢10
:Combmed Vertical Forces ]
:dcps_autoJa :
i . -2.0210*
L Shot: 4898, Param. Tree 176
LIDL: Max= 0.025514065, Min=-32131.916 .2 5e¢1(Q*
| F,, Fix the Tree (gost. dis., circ.)
[ 1 4
'DCPS: Max= o.o:j5514065, Min= -32131.918.0¢10
[26.6 Al
1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 _3-5.10
-4 -2 0 2 4 6

time

[ T T [ T NT [V T v ] rrr

:Combined Vertical Forces

rdcps_auto_ja
. Tree 176

[ Shot: 4898, Pardn|

LIDL: Max= 0.044567421, Min= -32140.600

| F,, Fix the Tree (fformal, shaped)

[DCPS: Max= 0.044567420, Min=-32149.602

r25.6

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4
time

6

Of

[ T T [ T NT [V T v T ] rrr

:Combined Vertical Forces

:dcps_autoJa

[ Shot: 4898, Pardn). Tree 176

LIDL: Max= 0.021668785, Min=-32134.473

| F,, Fix the Tree (gost. dis., shaped.)

A

[DCPS: Max= 0.02j1668785, Min=-3213%.475

r27.6

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6

time



30

20¢

10|

-20

30

20¢

10|

-20

10

10

rrrr|rrr|rrr|rrr|rrr

FCombined Ve

IDL: Max= 32.4189 Min= -29.102318

EFZ, Fix the Tree [@brmal, circular)

EDCPS: Max= 32.

047

L 1o o by by oy by by

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

FCombined Ve

FIDL: Max= 32.8B0, Min= -29.281402

F,, Fix the Tree [@ibst. dis., circ.)

EDCPS: Max= 32.

26.7

L 1o o by by oy by by

-4 -2 0 2 4 6
time

3829, Min= -29.102é19

1532, Min= -29.281é99

30

20¢

10|

-20

30

20¢

10|

-20

10

10

rrrr|rrr|rrr|rrr|rrr

FCombined Ve

IDL: Max= 32.41887, Min= -29.103468

[ F,, Fix the Tree {librmal, shaped)

EDCPS: Max= 32.4B6558, Min=-29.103467

05,7

L 1o o by by oy by by

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

FCombined Ve

FIDL: Max= 33.5086, Min= -29.917442

F,, Fix the Tree {libst. dis., shaped.)

EDCPS: Max= 33.fb1676, Min= -29.9174540

[27.7 ]

L 1o o by by oy by by

-4 -2 0 2 4 6
time




30

-10

-20

30

-10

-20

201

10}

201

10}

rrrr|rrr|rrr|rrr|rrr

FShot: 4898, Pa

8, Min=-32.517189

FIDL: Max= 28.7

EFZ, Fix the Tree

rmal, circular)

£24.8
L 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

Edcps_autoJa
FShot: 4898, Pa

0, Min=-33.881389

FIDL: Max= 28.2

EFZ, Fix the Tree st. dis., circ.)

[£26.8
L 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1

-4 -2 0 2 4 6
time

EDCPS: Max= 28.188248, Min=-32.517492

E_DCPS: Max= 28.}26560, Min= —33.881(_:393

30f

-10

-20

30

-10

-20

201

10}

201

10}

rrrr|rrr|rrr|rrr|rrr

FShot: 4898, Pa

6, Min= -32.513064

FIDL: Max= 28.7

EFZ, Fix the Tree (brmal, shaped)

E_DCPS: Max= 28.1188846, Min= -32.5139'69

[£25.8
L 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

Edcps_autoJa
FShot: 4898, Pa

1, Min= -34.69406 1

FIDL: Max= 27.8

EFZ, Fix the Tree st. dis., shaped.)

E_DCPS: Max= 27.§93690, Min= -34.694(_563

£27.8
L 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1

-4 -2 0 2 4 6
time




rrrr|rrr|rrr|rrr|rrr rrrr|rrr|rrr|rrr|rrr

LCombined Ve

LCombined Ve

0 0
ree 176 ree 176
| IDL: Max= 73.9 2, Min=-68.510437 | IDL: Max= 73.9 5, Min=-68.518132,
rF,, Fix the Tree rmal, circular) 1 rF,, Fix the Tree rmal, shaped)
-50 'DCPS: Max= 73.418240, Min= -68.510440 -0 'DCPS: Max= 73.429892, Min= -68.5181|35
24.9 25.9
I 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1
-4 -2 0 2 4 6 -4 -2 0 2 4 6
time time
T I T T T I T T T I T T T I T T T I T T T ] [ T I T T T I T T T I T T T I T T T I T T T ]

50+ . 50} i

LCombined Ve orces LCombined Ve orces
0 0
ree 176 ree 176

| IDL: Max= 74.6 9, Min=-67.970384 | IDL: Max= 76.2 9, Min=-66.892859
rF,, Fix the Tree|j@pst. dis., circ.) 1 rF,, Fix the Tree|@@pst. dis., shaped.)

-50 'DCPS: Max= 74.4f76018, Min= -67.970386 -0 'DCPS: Max= 76.419553, Min= -66.892860
26.9 27.9
I 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1

-4 -2 0 2 4 6 -4 -2 0 2 4 6

time time



60|

-60

60|

-60

401

20}

rrrr|rrr|rrr|rrr|rrr

Ldcps_auto_ja
~Shot: 4898, Pa

[IDL: Max= 60.6

.—FZ, Fix the Tree rmal, circular)

[ 24.10

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

2, Min= -68.652514

rDCPS: Max= 60.458794, Min= -68.652522

-4 -2 0 2 4
time

6

401

20}

rrrr|rrr|rrr|rrr|rrr

:dcps_autoJa
-‘Shot: 4898, Pa
[IDL: Max=61.6
.—FZ, Fix the Tree {@ost. dis., circ.)

rDCPS: Max= 61.

[ 26.10

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

5, Min= -68.05379()

03397, Min=-68.053138

-4 -2 0 2 4
time

6

60|

-60

60|

-60

401

20}

rrrr|rrr|rrr|rrr|rrr

Ldcps_auto_ja
~Shot: 4898, Pa

6, Min= -68.651871]

[IDL: Max= 60.6
.—FZ, Fix the Tree rmal, shaped)
rDCPS: Max= 60.(§58887, Min=-68.651470

[ 25.10

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

401

20}

rrrr|rrr|rrr|rrr|rrr

:dcps_autoJa
-‘Shot: 4898, Pd
[IDL: Max=61.9 9, Min=-67.839434
.—FZ, Fix the Tree st. dis., shaped.) ]
:DCPS: Max= 61.452643, Min= -67.8394;32

[27.10

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time



rrrr|rrr|rrr|rrr|rrr rrrr|rrr|rrr|rrr|rrr

50

T

rCombined Ve

rCombined Ve

0 0
ree 176 ree 176
'IDL: Max=80.3 3, Min=-76.585838 'IDL: Max=80.3 1, Min=-76.595634
F,, Fix the Tree rmal, circular) F,, Fix the Tree rmal, shaped)
50t . 50+
tDCPS: Max= 80.§21100, Min= -76.585842 tDCPS: Max= 80.H34529, Min= -76.595d38
[24.11 [25.11
[ 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 ] [ 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1
-4 -2 0 2 4 6 -4 -2 0 2 4 6
time time
T I T T T I T T T I T T T I T T T I T T T T I T T T I T T T I T T T I T T T I T T T
50+ . 50+ _
rCombined Ve orces rCombined Ve orces
0 0
ree 176 ree 176
'IDL: Max=80.5 4, Min=-76.395965 'IDL: Max=81.2 9, Min= -75.954417|
F,, Fix the Tree st. dis., circ.) F,, Fix the Tree st. dis., shaped.)
50t . 50t :
tDCPS: Max= 80.H80563, Min= -76.395967 tDCPS: Max= 81.25283, Min= -75.954420
[26.11 [27.11
[ 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 ] [ 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1
-4 -2 0 2 4 6 -4 -2 0 2 4 6

time time



50

50

rrrr|rrr|rrr|rrr|rrr

[ IDL: Max= 66.3

F,, Fix the Tree rmal, circular)
LDCPS: Max= 66.

[24.12

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

9, Min= -74.131332

3079, Min=-74.131333

-4 -2 0 2 4
time

6

rrrr|rrr|rrr|rrr|rrr

[ IDL: Max=67.9

| F,, Fix the Tree {@pst. dis., circ.)

2, Min= -73.202554

L DCPS: Max= 67.§60275, Min= -73.202556
[26.12

1 l 1 11 l 1 1 1 l 1 11 l 1 1 1 l 11 1

-4 -2 0 2 4

time

6

50

50

rrrr|rrr|rrr|rrr|rrr

[ IDL: Max= 66.3 6, Min=-74.133649

| F,, Fix the Tree rmal, shaped)
L DCPS: Max= 66.$3366, Min=-74.133¢50

[25.12

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

[IDL: Max=71.0 1, Min= -73.444050

| F,, Fix the Tree st. dis., shaped.) |

LDCPS: Max= 71.[{#4341, Min=-73.444Q54

[27.12

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time




207

-10

-20

207

-10

-20

10}

:Combined V

rrrr|rrr|rrr|rrr|rrr

[dcps_auto_ja
[ Shot: 4898, Pa

[IDL: Max=16.4

[F,, Fix the Tree

L DCPS: Max= 16.

40, Min= -18.039984
rmal, circular)

25240, Min= -18.039984

6

10}

[24.13 1
L 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1
4 2 0 2 4
time
T I T T T I T T T I T T T I T T T I T T T ]
:Combined V rces

Edcps_autoJa
EShot: 4898, Pa
:_IDL: Max=18.1
EFZ, Fix the Tree
 DCPS: Max= 18.

[26.13

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

4, Min= -19.683482
st. dis., circ.)

1074, Min= -19.683481

-4 -2 0
time

2

4

6

207

-10

-20

207

-10

-20

10}

rrrr|rrr|rrr|rrr|rrr

:Combined V

[dcps_auto_ja
[ Shot: 4898, Pa
:_IDL: Max=16.4

[F,, Fix the Tree (f'prmal, shaped)

L DCPS: Max= 16.444793, Min= -18.059196

[25.13

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

03, Min= -18.059197

-4 -2 0 2 4
time

6

10}

rrrr|rrr|rrr|rrr|rrr

:Combined V rces

Edcps_autoJa
EShot: 4898, Pa
:_IDL: Max=18.3
EFZ, Fix the Tree (fost. dis., shaped.)
 DCPS: Max= 18.

127.13

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

5, Min= -19.885387

8735, Min=-19.885386

-4 -2 0 2 4
time

6



10

-10

10

-10

Fr [ v r 7 [T Frr [ rrr[rrrprrrt

T
1

:Combined Ve

4, Min= -8.0523458

'F,, Fix the Tree rmal, circular)

124.14

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

Fr [ v r 7 [T Frr [ rrr[rrrprrrt

T
1

:Combined Ve

IDL: Max=9.80j 7, Min= -8.8855579

'F,, Fix the Tree {@ost. dis., circ.)

126.14

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

rDCPS: Max= 8.1§21585, Min=-8.0523463

rDCPS: Max= 9.8(f10380, Min= -8.8855584

10

-10

10

-10

Fr [ v r 7 [T Frr [ rrr[rrrprrrt

T
1

:Combined Ve

-t Shot: 4898, Pd

IDL: Max=8.1%3. Min= -8.0642412

'F,, Fix the Tree (formal, shaped)

rDCPS: Max= 8.1§55750, Min=-8.0642417

125.14

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

Fr [ v r 7 [T Frr [ rrr[rrrprrrt

T

:Combined Ve

IDL: Max=10.2}3, Min= -9.1130805

'F,, Fix the Tree {@ist. dis., shaped.) 7|
rDCPS: Max= 10.#10143, Min=-9.1130406

127.14

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time




10

-10

10

-10

rrrr|rrr|rrr|rrr|rrr

[ Combined Ve

Ldcps_auto_j
[ Shot: 4898, P
EIDL: Max= 16.3 , Min=-16.079713
:_FZ, Fix the Tree rmal, circular) _
EDCPS: Max= 16!

[24.15

NI AU U AU T SN AU T N S SN S N M SN

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

[ Combined Ve

Ldcps_auto_j
[ Shot: 4898, P
EIDL: Max= 17. , Min=-15.994492
:_FZ, Fix the Tree st. dis., circ.) _
EDCPS: Max= 17

[26.15

NI AU U AU T SN AU T N S SN S N M SN

-4 -2 0 2 4 6
time

8167, Min=-16.079713

1449, Min= -15.994491

10

-10

10

-10

rrrr|rrr|rrr|rrr|rrr

[ Combined Ve

Ldcps_auto_j
[ Shot: 4898, P
EIDL: Max= 16.3 , Min=-16.095789
:_FZ, Fix the Tree rmal, shaped) _
EDCPS: Max= 16111322 Min= -16.0957:89

[25.15

NI AU U AU T SN AU T N S SN S N M SN

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

[ Combined Ve

Ldcps_auto_j
[ Shot: 4898, P
EIDL: Max= 17.2 , Min=-15.962294
:_FZ, Fix the Tree st. dis., shaped.) _
EDCPS: Max= 17 #il18962, Min= —15.962?;95

[27.15

NI AU U AU T SN AU T N S SN S N M SN

-4 -2 0 2 4 6
time



-10¢

-20

-10¢

-20

201

10}

rrrr|rrr|rrr|rrr|rrr

Edcps_autoJa
 Shot: 4898, Pafglll Tree 176
FIDL: Max= 18.5
EFZ, Fix the Tree (fjormal, circular)
:_DCPS: Max= 18.

524.16

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

2, Min= -20.851517

5832, Min= -20.851316

-4 -2 0 2 4
time

6

201

10}

rrrr|rrr|rrr|rrr|rrr

Edcps_autoJa
 Shot: 4898, Pa
FIDL: Max= 21.3
EFZ, Fix the Tree st. dis., circ.)
:_DCPS: Max= 21.

526.16

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

8, Min= -23.560211

5569, Min= -23.560310

-4 -2 0 2 4
time

6

-10¢

-20

-10¢

-20

201

10}

LI L L L L |

LI I LB BB LB B

Edcps_autoJa
 Shot: 4898, Paf@ill Tree 176
FIDL: Max=18.5
EFZ, Fix the Tree (jlormal, shaped)
:_DCPS: Max= 18.

525.16

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

2, Min= -20.871244

1573, Min= -20.871443

-4 -2 0 2 4
time

6

201

10}

rrrr|rrr|rrr|rrr|rrr

Edcps_autoJa
 Shot: 4898, Pa
[IDL: Max= 21.8
EFZ, Fix the Tree (flost. dis., shaped.)
:_DCPS: Max= 21.

527.16

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

4, Min= -24.140190

7534, Min= -24.140190

-4 -2 0 2 4
time

6



-10

-20

-10

-20

10}

[T [ T TV [T Fr T [ rrr[rrrprrrt

T

[ Combined Ve

Edcps_autoJa
[ Shot: 4898, P
[IDL: Max=16.1

LF,, Fix the Tree

10, Min=-17.170842

rmal, circular)

L DCPS: Max= 16.121410, Min= -17.170841

[24.17

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

10}

[T [ T TV [T Fr T [ rrr[rrrprrrt

T

[ Combined Ve

Edcps_autoJa
[ Shot: 4898, Pa
[IDL: Max=17.6

LF,, Fix the Tree

8, Min=-18.602060Q

st. dis., circ.)

[ DCPS: Max= 17. 30178, Min= -18.602460

[ 26.17

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

-10

-20

-10

-20

10}

LI LN DAL |

T

[ Combined Ve
Edcps_autoJa
EShot: 4898, P
EIDL: Max=16.1

LF,, Fix the Tree

L DCPS: Max= 16.136084, Min=-17.191d18

LI I LB BB LB B

84, Min=-17.191619

rmal, shaped)

10}

[25.17
C. 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1 l 1 1 1
-4 -2 0 2 4 6
time
[ T I T T T I T T T I T T T I T T T I T T T
[ Combined Ve orces

Edcps_autoJa
 Shot: 4898, Pa
EIDL: Max=17.8
LF,, Fix the Tree
DCPS: Max= 17.

[27.17

P IR TR BT |

4, Min= -18.84405Q
st. dis., shaped.)

7664, Min= -18.844349

PR R H NS S B T

4 -2 0

2 4 6

time



rrrr|rrr|rrr|rrr|rrr

[IDL: Max= 6.27 6, Min= -5.7939404

-F,, Fix the Tree rmal, circular) .

[24.18

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

[IDL: Max= 6.64 2, Min= -6.5084045

-F,, Fix the Tree st. dis., circ.) .

[26.18

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

'DCPS: Max= 6.2459983, Min= -5.7939407

DCPS: Max= 6.6461703, Min=-6.5084044

rrrr|rrr|rrr|rrr|rrr

[IDL: Max= 6.29 9, Min= -5.8001155

-F,, Fix the Tree rmal, shaped) e

'DCPS: Max=6.2935207, Min=-5.8001159

[25.18

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

[ IDL: Max= 6.46 0, Min= -6.2801070

-F,, Fix the Tree st. dis., shaped.) A

DCPS: Max= 6.44B7107, Min=-6.2801(068

[27.18

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time




rrrr|rrr|rrr|rrr|rrr

:dcps_autoJa

rShot: 4898, Pa Tree 176 1

[ IDL: Max= 4.54 7, Min=-5.3467765

.—FZ, Fix the Tree (fformal, circular)

[24.19

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

:dcps_autoJa

rShot: 4898, Pa Tree 176 1

[ IDL: Max= 6.34 9, Min= -6.8936504

.—FZ, Fix the Tree |@bst. dis., circ.)

[26.19

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

rDCPS: Max= 4.5464850, Min=-5.34677165

rDCPS: Max= 6.3440348, Min= -6.8936505

rrrr|rrr|rrr|rrr|rrr

:dcps_autoJa
-—Shot: 4898, Pa Tree 176 ]
[ IDL: Max= 4.56 8, Min= -5.3382389
.—FZ, Fix the Tree (fformal, shaped)

:DCPS: Max= 4.5621521, Min= -5.3382é89

[25.19

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

:dcps_autoJa
-—Shot: 4898, Pa Tree 176 ]
[ IDL: Max= 5.82 8, Min= -6.6045546
.—FZ, Fix the Tree st. dis., shaped.) ]
:DCPS: Max=5.83P1547, Min= -6.60455:47

27.19

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time



rrrr|rrr|rrr|rrr|rrr

[Combined Ve

[IDL: Max= 1.89

[ F,, Fix the Tree fibrmal, circular)
L DCPS: Max= 1.

[24.20

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

5, Min=-1.8817105

5984, Min= -1.88171:04

-4 -2 0 2 4
time

6

rrrr|rrr|rrr|rrr|rrr

[Combined Ve

[IDL: Max=2.21
[F,, Fix the Tree st. dis., circ.)
| DCPS: Max= 2.

[26.20

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

3, Min=-1.9445712

5842, Min= -1.94457:12

-4 -2 0 2 4
time

6

rrrr|rrr|rrr|rrr|rrr

[Combined Ve

[IDL: Max= 1.88
[F,, Fix the Tree rmal, shaped)
| DCPS: Max= 1.

[25.20

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

8, Min=-1.8939755

2767, Min= -1.8939455

-4 -2 0 2 4
time

6

rrrr|rrr|rrr|rrr|rrr

[Combined Ve orces

[IDL: Max= 2.15
[F,, Fix the Tree st. dis., shaped.)
| DCPS: Max= 2.

[27.20

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

2, Min=-1.9431772

3211, Min= -1.94317:72

-4 -2 0 2 4
time

6



T [ T rT T [T Fr T[T rr [ rrrrrr

[IDL: Max= 1.67

LF,, Fix the Tree

5, Min=-1.5565148

rmal, circular)
[ DCPS: Max= 1.6720504, Min=-1.5565150

[ 24.21

Lo 1o o by vy by oy by oy by

-4 -2 0 2 4 6
time

T [ T rT T [T Fr T[T rr [ rrrrrr

1, Min=-1.9747550

:FZ, Fix the Tree st. dis., circ.)

[ DCPS: Max= 2.0%23173, Min=-1.9747549

 26.21

Lo 1o o by vy by oy by oy by

-4 -2 0 2 4 6
time

T [ T rT T [T Fr T[T rr [ rrrrrr

[IDL: Max=1.65

LF,, Fix the Tree

4, Min=-1.5688221
rmal, shaped)
[ DCPS: Max= 1.65991973, Min=-1.5688223

 25.21

Lo 1o o by vy by oy by oy by

-4 -2 0 2 4 6
time

T [ T rT T [T Fr T[T rr [ rrrrrr

4, Min=-1.8282075

LF,, Fix the Tree (ffost. dis., shaped.)
[DCPS: Max= 1.9§133524, Min= -1.8282(75

[ 27.21

Lo 1o o by vy by oy by oy by

-4 -2 0 2 4 6
time




rrrr|rrr|rrr|rrr|rrr

| IDL: Max=4.39 1, Min=-4.0407584

| F,, Fix the Tree rmal, circular)

[24.22

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

5, Min=-4.4098564

| F,, Fix the Tree @@bst. dis., circ.)

[ 26.22

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

L DCPS: Max= 4.3942879, Min=-4.0407585

L DCPS: Max= 4.74P7936, Min= -4.4098564

rrrr|rrr|rrr|rrr|rrr

| IDL: Max=4.39 4, Min= -4.0456489

| F,, Fix the Tree rmal, shaped)
LDCPS: Max= 4.3995452, Min= -4.0456490

[ 25.22

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

|l Combined Ve orces

dcps_auto_jal

rShot: 4898, P ree 176

| IDL: Max= 4.52 8, Min=-4.3432163

| F,, Fix the Tree st. dis., shaped.)

L DCPS: Max= 4.5315335, Min=-4.3432164

[27.22

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time



rrrr|rrr|rrr|rrr|rrr

LIDL: Max= 8.15 0, Min=-7.5471223

—FZ, Fix the Tree rmal, circular)

[ 24.23

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

LIDL: Max= 8.54 0, Min=-8.7199888

'F,, Fix the Tree {@flpst. dis., circ.)

[ 26.23

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

L DCPS: Max= 8.1477088, Min=-7.5471429

L DCPS: Max= 8.54P5469, Min= -8.7199886

rrrr|rrr|rrr|rrr|rrr

LIDL: Max= 8.18

'F,, Fix the Tree (flprmal, shaped)

[ 25.23

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

4, Min= -7.5545822

L DCPS: Max= 8.1§74962, Min= -7.5545828

-4 -2 0 2 4
time

6

rrrr|rrr|rrr|rrr|rrr

LIDL: Max= 8.40
|F,, Fix the Tree (@§bst. dis., shaped.)

[ 27.23

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

2, Min=-8.4304282

L DCPS: Max= 8.4(§8879, Min=-8.4304478

-4 -2 0 2 4
time

6



50

50

rrrr|rrr|rrr|rrr|rrr

LCombined Ve

[IDL: Max= 88.5 5, Min= -81.874263

LF,, Fix the Tree rmal, circular) |

L 24.24

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

LCombined Ve

[IDL: Max= 88.7 4, Min= -82.065652

LF,, Fix the Tree st. dis., circ.) |

1 26.24

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

 DCPS: Max= 88.426366, Min= -81.874467

| DCPS: Max= 88.1{64316, Min= -82.065455

50

50

rrrr|rrr|rrr|rrr|rrr

LCombined Ve

[IDL: Max= 88.5 4, Min= -81.889754

LF,, Fix the Tree rmal, shaped) 4

| DCPS: Max= 88.H40514, Min= -81.8897160

1 25.24

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

LCombined Ve

[ IDL: Max= 88.2 1, Min= -81.564469

LF,, Fix the Tree st. dis., shaped.) 1
| DCPS: Max= 88.405192, Min= -81.564473

L 27.24

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time




50

-100

50

-100

rrrr|rrr|rrr|rrr|rrr

rdcps_auto_ja
| Shot: 4898, Pa
"IDL: Max=85.1

LF,, Fix the Tree

8, Min=-92.266511
ormal, circular)
| DCPS: Max= 85.

24.25

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

rrrr|rrr|rrr|rrr|rrr

rdcps_auto_ja
| Shot: 4898, Pa
[ IDL: Max= 82.0

LF,, Fix the Tree

30, Min= -88.759097]
ost. dis., circ.)
 DCPS: Max= 82.

+26.25

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

-4 -2 0 2 4 6
time

72082, Min=-92.266511

63733, Min=-88.759(]99

50

-100

50

-100

L L |

LI I LB BB LB B

rdcps_auto_ja
| Shot: 4898, Pa

[1DL: Max= 87.6

LF,, Fix the Tree (@lormal, shaped)

+25.25

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

6, Min=-95.094068

| DCPS: Max= 87.669811, Min= -95.094068

-4 -2 0 2 4
time

6

rrrr|rrr|rrr|rrr|rrr

rdcps_auto_ja
| Shot: 4898, Pa

[1DL: Max=81.5

LF,, Fix the Tree (pplost. dis., shaped.)
| DCPS: Max= 81.

t27.25

PR IR R S NN SN SO U NN TN SR TN AU SR N S MU

69, Min=-88.205191]

4473, Min= -88.205192

-4 -2 0 2 4
time

6



